
DH2522P

DH2522P-EX-RUS20220506

Six angle cylinder screws M6*26
Six angle cylinder screws M6*18
Gasket Φ6
Fuel tank cap
Fuel tank cap sealing ring Φ80X Φ2.8
Label
Gear box
6205 Sealing ring Φ55.4XΦ2
Bearing 6205
Hole snap spring Φ 52
Range ring
Big gear
Shaft clamping spring Φ22
Bearing 6002
7-hole gasket
Top cover
Bearing 6201
Shaft clamping spring Φ20
Medium gear
Small gear 
Square key 6X6X14
Bearing 6201
Needle Roller Φ5×12
Bearing 6203
Armature
Bearing 6201
Six angle cylinder screws ST5X60
Stator
Stator shell
Coil spring
Carbon brush holder
Carbon brush
Cross countersunk screws ST4X12
Cover
Six angle cylinder screws M6X30
Cross countersunk screws ST5X40
Cross countersunk screws ST5X14
Spline cover(left)
Locknut M10
Splines
Handle
Spline sleeve
Gasket Φ6
Handle seat
Spline shaft
Spline cover(right)
Cross countersunk screws ST4X16
Switch cover
Switch
Wire pressing plate
Switch seat
Cable cover
Cable

DESCRIPTION
1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29

Locking Lever
Rubber washer Φ18XΦ8
Front Cover 
Hex. Socket Bolt M10X60
Spring  Washer Φ10
Screw spring
Spring Cover
Lever Spring 
Lock rod gasket
Needle Roller Φ4×32
Clamping sleeve
O Ring Φ33XΦ3.5
Hammer
Small Urethane Ring 
Shank Sleeve
O Ring Φ26.4XΦ3.5
Mouth Cover 
Mouth
Mouth Washer
Big Urethane Ring 
Front handle clamping block
Front handle clamping screw
Front handle bracket
Six angle cylinder screws M8
Side Handle Cap
Side Handle Ass’y  Cover
Handwheel cover 
Hex. Socket Bolt M8
Hand wheel
Front pocket
Six angle cylinder screws M10x40
Spring  Washerφ10
Gasket ring Φ62xΦ2
Cylinder
Piston ring 
Piston pin
Piston
Piston single lip o-ring
Six angle cylinder screws M8x30
Gasket Φ8
Eccentric shaft gasket
Connecting rod
BearingNK1820
Eccentric shaft  
Woodruff key 4x6.5x16
Oil hole
Oil-hole gasket ring Φ20.5xΦ2
Six angle cylinder screws M5x14
Oil cover
Oil-lid gasket
Oil core
Cross countersunk screws M4X12
Oil bowl  
Oil bowl gasket 

30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54

NO. DESCRIPTION
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99
100
101
102
103
104
105
106
107

NO.


